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01 Mzl 10,000 0 10,000
O ACILOHAS MEBAT2Y HE 7 10,000
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O &3t HtE s8¢ 7 750,000 *43] 3,000
NMIIEESMSE (BEEE=YIISAY) 47,500 10,000 37,500
= 23,750
Al 23,750
101 el2H] 7,500 10,000 A2,500
= 3,750
Al 3,750
10 JIZH22XNSES 7,500 10,000 A 2,500
O zstasstaclsd 23 7,500
= 3,750
Al 3,750
402 QIEE01M 40,000 0 40,000
= 20,000
Al 20,000
01 Q==X 40,000 0 40,000
O HEY oy o Mg 15,000
= 7,500
Al 7,500
O VHBSROIB YA Yu su 25,000
= 12,500
Al 12,500
SFENZAMZF0ISAIZHIEZAIE 45,000 0 45,000
405 KHebE SHI 45,000 0 45,000
01 L SESFHSHI 45,000 0 45,000
O DM=sLSieddl 2
45,000,000 = 1CH 45,000
SAZSE RSO MSHANE ES 115,000 0 115,000
207 SAOHEH| 15,000 0 15,000
03 AlIE& I 15,000 0 15,000
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01 X =SFHSHI 10,000 0 10,000
O SE0IMS(EM)EH LAl AE
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O ANEJHELSIEFAZE 0
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olE2dtl(sYllsddH) 2,048,500 2,205,212 A156,712
olHA2AH (sII=dH) 2,048,500 2,205,212 A156,712
101 el | 1,922,860 2,079,272 N 156,412
01 Jl== 1,069,861 1,173,526 A 103,665
= =(39¢) 987,564
-X & = 3,127,000 x3H x 12 112,572
=X & At 2,126,000 28H x 12 714,336
- 72 A 1,280,000 x 1 123 15,360
-7 = 2,126,000& *3H x12& 76,536
-8 = 1,910,000 x3H » 123 68,760
a2 987,564,000& *1/12%1/2x23] 82,297
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O A2t 282+Y
7,4573 x37 B *45A| 2412 148,991
O Jts=¢ 40,560
-t = X 40,0003 x38H x12& 18,240
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O XMHSHIEE = 18,888
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05 ZEFIHI 103,130 112,699 A 9,569
O ZESIH
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